=
<
i

o(d dxy) (cm)

[
<
N

......

E S

:|-nr 3
E -+
RN

0o 1 2 3

o(d dz) (cm)‘
o

1
i

3 1 o0 1 2 3

—e— ../.ICMSSW_12_4_0_pre3/src/DQM_V0001_R000000001__Global__mkFit_ CAND

—=— /./JCMSSW_12 4 0 preS/src/DQM_VOOOl_ROOOOOOOOl_GIobal_mkFit_batchCAND-adjuTWine)

—— DQM_V0001_R000000001__Global__mkFit_CAND-AFTERCONFLICT

o(d o) (rad)

- :
- I
-+ :
-4 T
EINREE,
L 3 <
E -
] 1 11 11 1 1 11 1
. o i 3 .
o R -4 T -+ |:
H: H EEE S H
:- g - a
H: ) ki -4 | A
H: ; : -4
H: i e :
0T : -+ | : -4 |4
i i

0o 1 2 3
TP ® (PCA to beamline)

o p_/p.)

1072

Ly T | T T A | TN T T N T Y I |
. -4 . . . .

-4

H | -4 q " o b | * -

g

32 1 0 1 2 3

TP ® (PCA to beamline)



	Contents
	Page 1


